O dbudbobtoobgoboood

gobobooobboobboobobuoooboooboooobboobbooaonoobooonoo
uoboobooobboooboog
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041 O00OO0O0O0ODOO0n

gbobobobbooboooooobobobobobooboobooboooboboboOooDooe
ogoos0000000000000O0DODDOODOO0OO0O0O0O0(u,v,v)O 30000000
ugoboooobooobbooboboood

O00b000xDO10000000D006x 3018 (4.1)

bobobobobobobobobobobobOobD 4200000Db0OD0ODODODO
ubobbogloobobuoobboobbooboboobbooboboobooobboobobo
uboboodbi10o4b00b0boobooboobobooboobobooboobboobobo
lgoooboobomooboboboosbooboobooooooooo 200b0b0OO
bobobobobobobobobobOobOo sb4ds0gbobooboboobobOobo
uoboogobboobboooboooobboobobooon

gbobobobobobobobobobobobobobobob obobobOobOob
oooooooopooboOoooiboboboboOoboUobO jooboboobooboobooog
g
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(K] K]
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TR PR K K K
[kii]= k21 k22 k23 ’[kij]z k24 kzs kze

k31 ksz k33 k34 k% k36 (4.3)
K K Kg Kio Kis Koo

[kJiJz Ko ke ks ’[ijz Ko ks ks
k61 k62 k63 k64 k65 k66

ubobooaboo 4buoobboobooboobobooboobbooboobboooboo
uooooobood

11 12 13 22 22 23 31 32 33 41 42 43 51 52 53 61 62 63
1 1 1 1 1 1
1 1 1 1 1 1
1 1 1 1 1 1
2 2 2 2 2 2
2 2 2 2 2 2
2 2 2 2
3 3 3 3 3 3
3 3 3 3 3 3
3 3 3 3 3 3
1 1 1 14114114 | 4 4 4
1 1 1 14114114 | 4 4 4
1 1 1 14114114 | 4 4 4
2 2 2 4 4 4 124512451245 5 5 5
2 2 2 4 4 4 124512451245 5 5 5
2 2 2 4 4 4 24512451245 5 5 5
3 3 3 5 5 5 |35 ]3| 3
3 3 3 5 5 5 | 35 ]3| 3
3 3 3 5 5 5 |3 ]3| 3

042 00O00OODODOOO

gbobgobooooboboboooooobobobooooobooboboboooob
gbobomobgooooooobobooooo@moooboboboboooobobo
gboooooobobobooboobooboboooooooooooooooobobobo
gbobgobooobooboboboooooboboboboobooboboboooobobo
gboboboboboboboboboboboboboboboboobobobobo
gbobgobooobooboboboooooboboboboobooboboboooobobo
gboobooooooon

UbobDobD pran0 00000000 0O0OOODOOOO0O0OODO

Parameter (mnod=1000,mnel=1000,mnnd=2,mndg=3,mnmt=100)
Dimension SKG(mnod*mndg,mnod*mndg) , SKL(mnnd*mndg,mnnd*mndg)
1 ,X(mnod) ,y(mnod)
1 ,Eyg(mnmt) ,Are(mnmt) ,S1z(mnmt)

, indv(mnel ,mnnd) ,mte(mnel)
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C
C
C

(9]

o

o

(9]

(9]

nod = 6 oo

nel =5 oo

nnd = 2 nnoooood

ndg = 3 nnooooooon

ndgt = ndg*nod nooooo
ooooooooo

indv(1,1) =1 nnoi10i000ood

indv(1,2) = 4 D010 joooood

indv(2,1) = 2 o201 000000

indv(2,2) = 5 D020 joooood

indv(3,1) = 3 o302 0o0o0oogd

indv(3,2) = 6 D030 joopoood

indv(4,1) = 4 o401 000000

indv(4,2) = 5 D040 joOooood

indv(5,1) = 5 o 501000000

indv(5,2) = 6 D050 jo0o0oood
00000000000 o0ooooooooooooooo

nmt = nooooooon

mte(1l) =1 Do0oooooooooog

mte(2) =1 No0o0o0o0oopoooog

mte(3) =1 Do0oooooooooog

mte(4) = 2 Do0oooooooooog

mte(5) = 2 No0oo0ooopoooog
oooooooooooo

Eyg(1) = 2100.d0 No0ooooopoog

Are(1) = 100.d0 Nooooooog

Siz(1) = 1.d4 NDo0odoooooooooog

Eyg(2) = 2100.d0 No0ooooopoog

Are(2) = 200.d0 Nooooooog

S1z(2) = 2.d4 NDo0odoooooooooog
ooooooo

x(1) = 0.d0 10010 x000

y(1) = 0.d0 D0 10y00O0O

x(2) = 90.d0 D020 xO000

y(2) = 0.d0 D020 y0O00O

x(3) = 200.d0 10030 x000

y(3) = 0.d0 1D030y00do

x(4) = 0.d0 10040 xOOO

y(4) = 100.d0 10040 yOOO

x(5) = 90.d0 D050 x000

y(5) = 100.d0 Do 50y000

x(6) = 200.d0 D060 xO000

y(6) = 100.d0 Do edynon
00000oO0oOopooooooooon

do 10 1 = 1,ndgt

do 10 j = 1,ndgt

10 SKG(i,j) = 0.d0
0000000000000000

do 100 n = 1,nel

call Elmat(x,y,Eyg,Are,Slz,indv,mte,SKL,n,mnel ,mnnd,mndg)
do 110 ip = 1,nnd

do 110 i = 1,ndg

iL = ndg*( ip-1) + i

iG = ndg*( indv(n,ip)-1) + i

do 120 jp = 1,nnd

do 120 j = 1,ndg

JL = ndg*( jp-1) + .

= ndg*( indv(n,jp)-1) + j
SKG(iG,JG) = SKG(1G,JjG) + SKL(iL,jL)

—
(]
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120 continue
110 continue
100 continue
stop
end
c
cO0o0oOO0oOoOooOoooOooOoon
[

subroutine Elmat(x,y,Eyg,Are,Slz,indv,mte,SKL,n,mnel,mnnd,mndg)
dimension SKL(mnnd*mndg,1),x(1),y(1)

1 ,Eyg(1),Are(1),S1z(1), |ndv(mnel 1),mte(1)

m = mte(n) oo0ooooogn

E = Eyg(m) !D 00OmOOOOODO

EA = E*Are(m) 1N000m0O00000Ox 000

El = E*Slz(m) D000 mO00O000O0OxO000D0O0DOOO
Ni = indv(n,1) D0 n0d00OO0ODOODO

Nj = indv(n,2) N0 nd00OO0ODOODO

XiJ = x(NJ)-x(Ni) D00 xO0000 -000xO0000
Yij = y(NJ)-y(Ni) ND00y00O00 -000yODODO
EL = sqrt( Xij**2+Yij**2 ) MO0 n00OO00O0O

cs = Xij/EL 100 nO cosa

sn = Yij/EL 00 nO sna

cs2 = cs**2 100 nO cosa

Sn2 = sn**2 100 nO sin‘a

C
cOoonDooooooboo

SKL(1,1) =
SKL(2,1) =
SKL(2,2) =
SKL(3,1) =-6.d0*EI/EL**2*sn
SKL(3,2) = 6.dO*EI/EL**2*cs
SKL(3,3) = 4.d0*EI/EL
SKL(4,1) = -SKL(1,1)
SKL(4,2) = -SKL(2,1)
SKL(4,3) = -SKL(3,1)
SKL(4,4) = SKL(1,1)
SKL(5,1) = -SKL(2,1)
SKL(5,2) = -SKL(2,2)
SKL(5,3) = -SKL(3,2)
SKL(5,4) = SKL(2,1)
SKL(5,5) = SKL(2,2)
SKL(6,1) = SKL(3,1)
SKL(6,2) = SKL(3,2)
SKL(6,3) = SKL(3,3)/2.d0
SKL(6,4) = -SKL(3,1)
SKL(6,5) = -SKL(3,2)
SKL(6,6) = SKL(3,3)

c

cOooooOooa
Do 10 i = 1,6
Do 10 j = 1+1,6

10 SKL(i,J) = SKL(g,i)

c
return
end

EA/EL*cs2 + 12.dO*EI/EL**3*sn2
(EA/EL-12.dO*EI/EL**3)*Ccs*sn
EA/EL*sn2 + 12.dO*EI/EL**3*cs2
6.

6.

4.
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